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Surface area of a Cone 
 Name:____________________________                                                                                                                          Date:_____________________ 

Find the surface area of a cone? (Use π =3.14). 

1) 2) 

3) 4) 

5) 6) 

7) 8) 

9) 10) 

7 ft 

3 ft 

7 ft 

2 ft 

7 in 

10 in 

7 yd 
5 yd 

8 ft 

9 ft 

11 yd 

6 yd 
10 in 

16 in 

8 in 

10 in 

12 ft 3 ft 

9 yd 7 yd 

A =       

A =   𝜋𝑟(𝑟 + √ℎ2 + 𝑟2) 

A =       

A =   𝜋𝑟(𝑟 + √ℎ2 + 𝑟2) 

A =       

A =   𝜋𝑟(𝑟 + √ℎ2 + 𝑟2) 

A =       

A =   𝜋𝑟(𝑟 + √ℎ2 + 𝑟2) 

A =       

A =   𝜋𝑟(𝑟 + √ℎ2 + 𝑟2) 

A =       

A =   𝜋𝑟(𝑟 + √ℎ2 + 𝑟2) 

A =       

A =   𝜋𝑟(𝑟 + √ℎ2 + 𝑟2) 

A =       

A =   𝜋𝑟(𝑟 + √ℎ2 + 𝑟2) 

A =       

A =   𝜋𝑟(𝑟 + √ℎ2 + 𝑟2) 

A =       

A =   𝜋𝑟(𝑟 + √ℎ2 + 𝑟2) 
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Surface area of a Cone 
 Name:____________________________                                                                                                                          Date:_____________________ 

Find the surface area of a cone? (Use π =3.14). 

1) 2) 

3) 4) 

5) 6) 

7) 8) 

9) 10) 

7 ft 

3 ft 

7 ft 

2 ft 

7 in 

10 in 

7 yd 
5 yd 

8 ft 

9 ft 

11 yd 

6 yd 
10 in 

16 in 

8 in 

10 in 

12 ft 3 ft 

9 yd 7 yd 

A =       

A =   𝜋𝑟(𝑟 + √ℎ2 + 𝑟2) 

A =       

A =   𝜋𝑟(𝑟 + √ℎ2 + 𝑟2) 

100.05 ft2     422.37 in2     

A =       

A =   𝜋𝑟(𝑟 + √ℎ2 + 𝑟2) 

A =       

A =   𝜋𝑟(𝑟 + √ℎ2 + 𝑟2) 

213.66 yd2       503.7 ft2       

A =       

A =   𝜋𝑟(𝑟 + √ℎ2 + 𝑟2) 

A =       

A =   𝜋𝑟(𝑟 + √ℎ2 + 𝑟2) 

349.28 yd2       522.92 in2       

A =       

A =   𝜋𝑟(𝑟 + √ℎ2 + 𝑟2) 

A =       

A =   𝜋𝑟(𝑟 + √ℎ2 + 𝑟2) 

226.73 in2       144.85 ft2       

A =       

A =   𝜋𝑟(𝑟 + √ℎ2 + 𝑟2) 

A =       

A =   𝜋𝑟(𝑟 + √ℎ2 + 𝑟2) 

58.31 ft2      404.68 yd2       


